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Ovandru:

[pammatuka: An important noun AéHbru money

“That’s too expensive”

More numbers: 200-999.999
The verb cTom+ cost
Cnywan- listen (to) vs. cnelwas+ hear

14
Jnanor
JTO CNULIKOM AOPOro That’s too expensive
I'éna 1 | (B marasmnne) (In a store)
2 | CkaxkuTe, MOXKATYICTa, CKOTBKO CTOUT 3TOT KpacHBIH | Could you please tell me how much that red
3 | mapd? scarf costs?
Bapsa 4 | OH cTOUT THICSAYY pYyo0aéii 1t costs 1000 rubles.
T'éna 5 | D10 canmkoM q0poro. A CKOJBKO CTOUT BOT ATOT | That’s too expensive. How much does that
6 | MAJeHbKHUH XENTHIN mapg? small yellow scarf over there cost?
Baps 7 | YeTsIpecTa cOPOK OJUH PyOIIb. 441 rubles.
I'éna 8 | CovirkoM 1Oporo. A BOT 3TOT OUEHb MANICHBKUH, | Too expensive. And that very small, old (dark)
9 | cTapblii cHHMM mapd, CKOIbKO OH CTOUT? blue scarf, how much does it cost?
Baps 10 | COpok pyOnéii. 40 rubles.
T'éna 11 | Het, 3To cavmkom n6poro. No, that’s too expensive.
Bapsa 12 | MoxeT ObITh, BBl MeHS He caplmanun. S ckasana, | Maybe you didn’t hear me. Isaid it cost 40
13 | 9TO OH CTOUT COPOK pyOsIeH rubles.
I'éna 14 | Her, s Bac cnplmmai. No, I heard you.
Bapsa 15 | A ckOIBKO IéHEr BBl XOTUTE MOTPATHTH HA Taph? | How much money do you want to spend on the
scarf?
I'éna 16 | MOxeT OBbITh, NBAAIATE pyOnéit. JI€no B TOM, uT0 | Maybe 20 rubles. The thing is, it’s a present for
17 | 3TO OJAPOK ISl CECTPHI MOEH JKEHBL. my wife’s sister.
r
CioBapnb

(See new numbers below)

2 | crom+

cost (See more below)

4 |pyOnp” (Masc)

JBa py

0J1s1, cTo pyOnéit

ruble (As of December 2,1999, $1 = 26.6 rubles.)

5 | CIAIIKOM

too, excessively

6 |mManenbkwuii

small

12 | capIma+

hear (See more below)

15 | 1éHB/TH (€)

money (See more below)

MOTpAaTH+ (Ha 4TO)

spend (money, time) on something (One-time action.)
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Grammar Lesson 42

42.A  An Important Noun: géHb/ru (e) money

This noun is always plural in Russian, which means that the Genitive Plural cannot be predicted (since, as you
recall, the Genitive Plural is based on the Nominative Singular). The Genitive is géner (with a cluster buster
before the final consonant, and no more soft-sign).

Examples:
TBoM JéHBI'M JIGKAT TaM Ha KPOBATH. Your money is (lying) there on the bed.
OH4 B35UT14 IéHBI'H U YIIUIA. She took the money and left.
OH CJIAIIKOM JIFOOUT A€HBTH. He cares too much about money.
— CkoOnpKo y TeOst iéner? How much money do you have?
— VY MeHs HeT aéHer. I don’t have any money.

Let’s practice using this important word.

g@ Put the noun péHbru into the correct form

1. V mens mer . 2. JIEXKAT Ha CTOIIE.
3. VY Her6 Ouens mano little . 4. CxkoOnbpko y Tebs ?
5. YV bumna I'élitca 6ueHs MHOTO . 6. T'me st ocraBui ?

42.6 More Numbers: 200-999.999*

*Russians write a period in large numbers where we write a comma: 76.349.910 and a comma in decimals where
we write a period: 7,6 (“seven point six”).

All of these numbers take Genitive Plural Adjectives and Nouns (unless, of course, the final digit is 1-4, which we
covered previously):

200 JIBECTU
300 TpHUCTa
400 YeTBIpECTa
500 IATBCOT
600 IECThCOT
700 CEMBCOT
800 BOCEMBCOT
900 JIEBATHCOT
1000 THICSYA
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42-1 ypok pammaTuka

2000 JIBE TBICSIYU
3000 TPH THICAYU
5000 [T THICSAY

10,000 gécsath TRICSY
21,000 gBAaAIATH OJHA THICSYA
100,000 cto TEICAU

Notes about spelling and forms:

Tprcra 300 and yeTsipecta 400 — These forms actually make sense: after Tpu and JeTsIpe you have the
Genitive Singular of cTo, a Neuter noun.

? : Question: What’s up with aéct 200? Shouldn’t it be nBacta?

i Answer: In theory, you’re absolutely right. However, originally, 1Be was used with both
Feminine and Neuter nouns, so that explains the aBe (vs. 1Ba).

|

|

! As for -cTm (vs. cTa), it goes back to the Dual, where -u was the Neuter Dual

| ending. The Dual has died in the modern language, but the -cTu in ABécTH is a
i vestige. You can explain all this to a Russian friend, because it’s not very

: likely that even they will know about this.

aTeeoT 500 — neBaThCOT 900 — Again these forms are what we predict. After 5-9 we get the Genitive Plural of
cto, which is cot (which has the cluster buster ‘0’, after you nuke the ending -0). Also, remember the “One ‘b’
only” spelling rule. Since coT has no ‘s’ in it, the ‘b’ appears right after the first half of the word: maTbcoT,
1ecTheoT, etc.

Treicsiua /000 — This number behaves like a regular Feminine noun, as we’ll see below.

JBe Teicsaun 2000 — yeTnipe Thicaun 4000 — These are exactly what we would predict: the Genitive Singular of
the Feminine noun Teicsiua after 2, 3, 4.

> nath TeIcaY 5000 — As expected, we find the Genitive Plural of Teicssua (nuke the vowel) after numbers > 5.

All of these numbers take Genitive Plural adjectives and nouns (unless, of course, the final digit is 1-4, which we
covered previously):

YV moer6 nipodéccopa TpH TEICSYN CKYIHBIX KHUT. My professor has 3000 boring books.
Hamm mom ctémn cto ThIcsSY 10JIIapoB. Our house cost $100,000.

B IlpriHCTOHE y4YaTcs 4eThIpe THICSUU NAThCOT — There are 4500 (excellent) students at Princeton.
(OTIYHBIX) CTYAEHTOB.

Y MeHs ceMbCOT (HOBBIX) TUCKOB. I have 700 (new) CDs.
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Grammar Lesson 42

% Pronounce these number phrases. (Don'’t forget about 2, 3,4, and agreement, etc., etc.)

1. 200 interesting books 2. 352 Japanese computers

3. 500 rubles 4. $10,000 (Nominative is qéJ1ap)
5. 501 ugly ties 6. 790 sports cars

7. 1,834 talentless lawyers 8. 2,000 Russian doctors

9. 424 German newspapers 10. 666 large jars of black caviar
42.B The Verb ctomn+ cost

This is actually a transitive verb in Russian, which means that it takes the Accusative Case. The Accusative of
the number usually is the same as the Nominative, unless the price ends in the number 1000, in which case
ThIcsT4a will become ThIcsYy:

— O N W W =

Xopommuit KOMIBIOTEP CTOUT JBE TEICSIN A good computer costs $2000.
JOIIIapOB.
Er6 noBas cmopTéBHas MamivHa cTOMJIA His new sports car cost $33,000.

TPUIIATH TPH THICSYH JOITAPOB.

With 1000 we can clearly see the Accusative:

OTOT GoToanmnapaT CTOUT ThICAUY AOIApoB.  This camera costs $1000

Sru OpPIOKH CTOAT THICSUY pyOInEit. These pants cost 1000 rubles.

@ Say how much the items cost. Begin each response with the question Ckénbko cTour...?

1.

our house / $90,000 2. bread /2 rubles

his new Italian sports car / $40,000 4. newspaper ‘Truth’ /3 rubles

a bottle of good German beer / $21 6. thatugly tie / 103 rubles

her new pants / $50 8. his notebook (computer) / 20,000 rubles
coffee (Starbuck’s) / $33 (it just seems like it) 10. good dictionary / 250 rubles

good watch / $1000 12. imported immopTHbI sausage / 70 rubles
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42-1 ypok pammaTuka

42.' Cnywawn+ listen (to) vs. Cnblwa+ hear

First note that these two verbs, despite very similar Infinitives (cnymaThb / casImarh) actually have completely
different Present Tense conjugations. Caymaii+ is a 1¥-conjugation(Up-to-Snuff) aii-stem verb (just like 3maii-,
nymaii-+, etc.), while capmma+ is a 2™-conjugation (Guitar) #Ka-?Ka-stem (like 3akpuud-, cTosi+)

Person/ | Pronoun CayIan+ CJBIIIA+
Number listen (to) hear
PRESENT TENSE
1sg s CITYIIA0 CITBIIIY
2sg ThI cITyniaenib CJIBILIHIITD
3sg OH/OHA/OHO CIIyIIaeT CITBILIHAT
1pl MBI CIIyIIaeM CJIBIIIIUM
2pl BBI CIIyIIaeTe CJIBILINTE
3pl OHH CITYIIAIOT CITBILIIAT
PAST TENSE
Masc s, TBI, OH CITyIIa CTIBIIIAT
Fem s, TBI, OHA CITyIIana CIBIIIAJIA
Pl MBI, BBI, OHH CITYIIATH CIIBIIIAJIN
INFINITIVE
CIIyIiaTh CJIBIIIATH

Note that in Russian both of these verbs take “bare” Accusative. No Preposition is needed (or allowed):

Twl MeHs citytaenib? Are you listening to me?

S Hudero He ciplana. 1 didn’t hear anything.

% Supply the correct verb (cnywai+ or cnsiwa-+) in the proper form:

1. Omna Bcé Bpéms (Present) pan-my3bIKy. 2. Busr (Past), uto s ckazana? (hear)

3. Hano Bcerna (Infinitive) mpodéccopa! 4. Teo1 menst (Present)?! (listen)

5. Toopure rpomue louder. 51 Bac ue (Present). 6. I'nmyxoii (deaf) yenoék nuuerod He (Present)
7. Tlo-mbemy, g uro-To (Past) BHU3Y downstairs. 8. Buepa s (Past) Momapra.

9. Oun Hukoraa He (Present) sxeHy. 10. S me xouy gaxe (Infinitive) 06 3Tom!
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2< Exercise1 Write 4 sentences with the word ‘money’. Suggestions: 1) Ask how much money
someone has; 2) A person has no money; 3) Where the money is (lying); 4) A
person has a lot of money; 5) Where someone left the money

2S Exercise2 Write 6 number phrases (with the new numbers — as well as the old) with both an
adjective and a noun.

Example: JECATH TRICSY TPUCTA COPOK CEMb OOBIKHOBEHHBIX MAIIHH
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42-iA ypok [JomaluHee 3agaHue

2< Exercise3 Translate into Russian:

1. + Did you hear what Vera said? - No, | wasn’t listening to her. + You never listen to anyone.

2. How much (yvou can leave out the word ‘money’) do you want to spend for a present for (your) wife?

3. + How much does this green tie cost? - $50 (Nominative is mosutap). + That’s too expensive.
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